
<?xml version="1.0" encoding="utf-8"?> 
<VYKAZ VERZE="44"> 
  <VYGEN/> 
  <AUTOR/> 
  <TELEFON/> 
  <E-MAIL/> 
  <SOUBOR/> 
  <VYTVORENO/> 
  <VETA> 
    <RDAT/> 
    <RED_IZO>600039803</RED_IZO> 
    <IZO>102261300</IZO> 
    <CAST>01</CAST> 
    <KOD_ZAKA/> 
    <TT>B</TT> 
    <SPECIF>4</SPECIF> 
    <OBOR>7901C01</OBOR> 
    <DRP>2</DRP> 
    <TP>0</TP> 
    <IZO_SPZ/> 
    <DAT_VYD/> 
    <DAT_KPD/> 
    <PSPO/> 
    <KOD_NFN>030703A03</KOD_NFN> 
    <FPP/> 
    <FN>0</FN> 
    <DAT_ZAH>1.10.2018</DAT_ZAH> 
    <DAT_UKON/> 
    <KOD_ZMEN/> 
    <ZMENDAT/> 
    <PLAT_ZAC/> 
    <PLAT_KON/> 
    <PRVNI_REDIAG>0</PRVNI_REDIAG> 
  </VETA> 
  <VETA> 
    <RDAT/> 
    <RED_IZO>600039803</RED_IZO> 
    <IZO>102261300</IZO> 
    <CAST>01</CAST> 
    <KOD_ZAKA/> 
    <TT>B</TT> 
    <SPECIF>4</SPECIF> 
    <OBOR>7901C01</OBOR> 
    <DRP>2</DRP> 
    <TP>1</TP> 
    <IZO_SPZ/> 
    <DAT_VYD/> 
    <DAT_KPD/> 
    <PSPO>4</PSPO> 
    <KOD_NFN>030701A03</KOD_NFN> 
    <FPP/> 
    <FN>0</FN> 
    <DAT_ZAH>1.10.2018</DAT_ZAH> 
    <DAT_UKON/> 
    <KOD_ZMEN/> 
    <ZMENDAT/> 
    <PLAT_ZAC/> 
    <PLAT_KON/> 
    <PRVNI_REDIAG>0</PRVNI_REDIAG> 
  </VETA> 
  <VETA> 
    <RDAT/> 



    <RED_IZO>600039803</RED_IZO> 
    <IZO>102261300</IZO> 
    <CAST>01</CAST> 
    <KOD_ZAKA/> 
    <TT>B</TT> 
    <SPECIF>4</SPECIF> 
    <OBOR>7901C01</OBOR> 
    <DRP>4</DRP> 
    <TP>0</TP> 
    <IZO_SPZ/> 
    <DAT_VYD/> 
    <DAT_KPD/> 
    <PSPO/> 
    <KOD_NFN>A50101A01</KOD_NFN> 
    <FPP>b</FPP> 
    <FN>1</FN> 
    <DAT_ZAH>1.10.2018</DAT_ZAH> 
    <DAT_UKON/> 
    <KOD_ZMEN/> 
    <ZMENDAT/> 
    <PLAT_ZAC/> 
    <PLAT_KON/> 
    <PRVNI_REDIAG>0</PRVNI_REDIAG> 
  </VETA>   
</VYKAZ> 


